Bid Committee Bid Tab

Bid OCWUT WC-1100 Ended at 06/11/2025 10:00 AM CDT The City of Oklahoma City and Trusts - Waterline Replacement Generated by: City Clerk

Summary

Company	Downey Contracting, LLC
Bid Number	OCWUT WC-1100
Item Grouping	Base Bid - \$1,385,208.00
Total Bid	\$1,385,208.00
Company	Cimarron Construction Co.
Bid Number	OCWUT WC-1100
Item Grouping	Base Bid - \$1,888,888.00
Total Bid	\$1,888,888.00

4M Trenching, LLC

OCWUT WC-1100

OCWUT WC-1100

OCWUT WC-1100

\$1,162,991.00

\$1,675,485.00

Base Bid - \$1,162,991.00

Southwest Water Works OCWUT WC-1100

Base Bid - \$1,675,485.00

MATTHEWS TRENCHING

\$1,387,318.00

Base Bid - \$1,387,318.00

\$2,343,847.00

Base Bid - \$2,343,847.00

Luckinbill Construction Company

Brewer Construction Oklahoma LLC

Company Bid Number Item Grouping Total Bid

OCWUT WC-1100

OCWUT WC-1100 Base Bid - \$2,285,570.00

\$2,285,570.00

06/11/2025 10:13 AM CDT

Bid Number

Date

Page 1 of 52

	Waterline Replacement
Creation Date	05/02/2025 02:45 PM CDT
Start Date	05/21/2025 10:00 AM CDT
End Date	06/11/2025 10:00 AM CDT
Award Date	Not Awarded Yet

Line Item Summary

OCWUT WC-1100 Waterline Replacement Downey Contracting, LLC Supplier 1243224 Supplier Number **Unit Price** \$1,456.00 Quantity/Unit 1 / Lump-Sum **Total Price** \$1,456.00 Product Code 109 Supplier Product Code **Supplier Notes Unit Price** \$8,552.00 Quantity/Unit 1 / Lump-Sum **Total Price** \$8,552.00 Product Code 109 Supplier Product Code **Supplier Notes Unit Price** \$94.00 Quantity/Unit 3742 / Linear Foot/Feet **Total Price** \$351,748.00 Product Code 212 **Supplier Product Code** Supplier Notes **Unit Price** \$148.00 Quantity/Unit 233 / Cubic Yard **Total Price** \$34,484.00 Product Code 225 **Supplier Product Code Supplier Notes Unit Price** \$86.00 Quantity/Unit 118 / Linear Foot/Feet **Total Price** \$10,148.00 Product Code 252 **Supplier Product Code Supplier Notes**

Unit Price	\$418.00
Quantity/Unit	51 / Linear Foot/Feet
Total Price	\$21,318.00
Product Code	252
Supplier Product Code	
Supplier Notes	

\$993.00

3 / Each

Unit Price

Total Price Product Code Supplier Product Code Supplier Notes	\$2,979.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,119.00 1 / Each \$1,119.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$733.00 3 / Each \$2,199.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$683.00 7 / Each \$4,781.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$657.00 1 / Each \$657.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,702.00 3 / Each \$5,106.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,070.00 1 / Each \$2,070.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,351.00 1 / Each \$1,351.00 501
Unit Price Quantity/Unit	\$1,249.00 10 / Each

Total Price Product Code Supplier Product Code Supplier Notes	\$12,490.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$924.00 1 / Each \$924.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,242.00 1 / Each \$3,242.00 504
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$7,455.00 7 / Each \$52,185.00 507
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,053.00 7 / Each \$14,371.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,794.00 8 / Each \$22,352.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,999.00 6 / Each \$29,994.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$12,725.00 1 / Each \$12,725.00 511
Unit Price Quantity/Unit	\$20,633.00 1 / Each

Total Price Product Code Supplier Product Code Supplier Notes	\$20,633.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,698.00 1 / Each \$2,698.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,811.00 1 / Each \$4,811.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$11,353.00 1 / Lump-Sum \$11,353.00 513
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$54.00 96 / Linear Foot/Feet \$5,184.00 515
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$39.00 1609 / Linear Foot/Feet \$62,751.00 515
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$70.00 2155 / Linear Foot/Feet \$150,850.00 515
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$112.00 64 / Linear Foot/Feet \$7,168.00 518
Unit Price	\$140.00

63 / Linear Foot/Feet

Total Price Product Code Supplier Product Code Supplier Notes	\$8,820.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$160.00 46 / Linear Foot/Feet \$7,360.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,159.00 1 / Each \$5,159.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$6,894.00 1 / Each \$6,894.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,576.00 1 / Each \$2,576.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,746.00 2 / Each \$5,492.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,670.00 1 / Each \$5,670.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$6,089.00 1 / Each \$6,089.00 520
Unit Price Quantity/Unit	\$7,044.00 1 / Lump-Sum

Total Price Product Code Supplier Product Code Supplier Notes	\$7,044.00 801
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$57,312.00 1 / Lump-Sum \$57,312.00 802
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$68,824.00 1 / Lump-Sum \$68,824.00 809
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$16,646.00 1 / Lump-Sum \$16,646.00 810
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$122.00 496 / Linear Foot/Feet \$60,512.00 812
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$171.00 452 / Square Yard \$77,292.00 813
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$197.00 294 / Square Yard \$57,918.00 814
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$140.00 73 / Square Yard \$10,220.00 816
Unit Price	\$14.00 1400 / Square Vard

1400 / Square Yard

Quantity/Unit

Total Price Product Code Supplier Product Code Supplier Notes	\$19,600.00 840
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$7,280.00 1 / Lump-Sum \$7,280.00 801
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,480.00 1 / Cubic Yard \$4,480.00 Spec No
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,843.00 2 / Each \$3,686.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,566.00 1 / Each \$2,566.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,280.00 7 / Each \$22,960.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,313.00 1 / Each \$4,313.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,864.00 10 / Each \$48,640.00 503
Unit Price Quantity/Unit	\$1,843.00 1 / Each

Total Price Product Code Supplier Product Code Supplier Notes	\$1,843.00 503	
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,313.00 1 / Each \$4,313.00 503	
Supplier Supplier Number Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	Cimarron Construction Co. 1211752 \$3,000.00 1 / Lump-Sum \$3,000.00 109	
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$7,250.00 1 / Lump-Sum \$7,250.00 109	
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4.00 3742 / Linear Foot/Feet \$14,968.00 212	
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$148.00 233 / Cubic Yard \$34,484.00 225	
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$370.00 118 / Linear Foot/Feet \$43,660.00 252	
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$250.00 51 / Linear Foot/Feet \$12,750.00 252	

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,020.00 3 / Each \$6,060.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,350.00 1 / Each \$2,350.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,010.00 3 / Each \$6,030.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,300.00 7 / Each \$16,100.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,480.00 1 / Each \$1,480.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,690.00 3 / Each \$11,070.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,600.00 1 / Each \$4,600.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,940.00 1 / Each \$4,940.00 501

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,250.00 10 / Each \$32,500.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,375.00 1 / Each \$3,375.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,895.00 1 / Each \$2,895.00 504
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$9,620.00 7 / Each \$67,340.00 507
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,080.00 7 / Each \$14,560.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$6,340.00 8 / Each \$50,720.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code	\$17,545.00 6 / Each \$105,270.00 511
Supplier Notes	511

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$12,175.00 1 / Each \$12,175.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,420.00 1 / Each \$5,420.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$9,090.00 1 / Each \$9,090.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$18,044.00 1 / Lump-Sum \$18,044.00 513
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$144.00 96 / Linear Foot/Feet \$13,824.00 515
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$152.00 1609 / Linear Foot/Feet \$244,568.00 515
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$258.00 2155 / Linear Foot/Feet \$555,990.00 515
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$218.00 64 / Linear Foot/Feet \$13,952.00 518

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$302.00 63 / Linear Foot/Feet \$19,026.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$382.00 46 / Linear Foot/Feet \$17,572.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,920.00 1 / Each \$4,920.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$6,160.00 1 / Each \$6,160.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,465.00 1 / Each \$2,465.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,640.00 2 / Each \$9,280.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,640.00 1 / Each \$4,640.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$6,425.00 1 / Each \$6,425.00 520

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,150.00 1 / Lump-Sum \$5,150.00 801
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$8,875.00 1 / Lump-Sum \$8,875.00 802
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$62,500.00 1 / Lump-Sum \$62,500.00 809
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$27,500.00 1 / Lump-Sum \$27,500.00 810
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$45.00 496 / Linear Foot/Feet \$22,320.00 812
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$326.00 452 / Square Yard \$147,352.00 813
Unit Price Quantity/Unit	
Total Price Product Code Supplier Product Code Supplier Notes	\$239.00 294 / Square Yard \$70,266.00 814

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$6.00 1400 / Square Yard \$8,400.00 840
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,575.00 1 / Lump-Sum \$2,575.00 801
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$250.00 1 / Cubic Yard \$250.00 Spec No
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,565.00 2 / Each \$5,130.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,565.00 1 / Each \$5,565.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,255.00 7 / Each \$36,785.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$6,155.00 1 / Each \$6,155.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$6,945.00 10 / Each \$69,450.00 503

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1.00 1 / Each \$1.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1.00 1 / Each \$1.00 503
Supplier Supplier Number Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	4M Trenching, LLC 2529512 \$5,000.00 1 / Lump-Sum \$5,000.00 109
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$20,000.00 1 / Lump-Sum \$20,000.00 109
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$130.00 3742 / Linear Foot/Feet \$486,460.00 212
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$130.00 233 / Cubic Yard \$30,290.00 225
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$230.00 118 / Linear Foot/Feet \$27,140.00 252
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code	\$500.00 51 / Linear Foot/Feet \$25,500.00 252

Supplier Notes Unit Price \$1,470.00 Quantity/Unit 3 / Each **Total Price** \$4,410.00 **Product Code** 501 Supplier Product Code **Supplier Notes Unit Price** \$1,630.00 Quantity/Unit 1 / Each **Total Price** \$1,630.00 **Product Code** 501 **Supplier Product Code Supplier Notes Unit Price** \$1,100.00 Quantity/Unit 3 / Each **Total Price** \$3,300.00 **Product Code** 501 Supplier Product Code **Supplier Notes Unit Price** \$1,500.00 Quantity/Unit 7 / Each **Total Price** \$10,500.00 **Product Code** 501 Supplier Product Code **Supplier Notes Unit Price** \$970.00 Quantity/Unit 1 / Each **Total Price** \$970.00 **Product Code** 501 Supplier Product Code **Supplier Notes Unit Price** \$2,450.00 Quantity/Unit 3 / Each **Total Price** \$7,350.00 **Product Code** 501 Supplier Product Code **Supplier Notes Unit Price** \$2,920.00 Quantity/Unit 1 / Each **Total Price** \$2,920.00 501 **Product Code** Supplier Product Code **Supplier Notes**

Unit Price	\$2,040.00
Quantity/Unit	1 / Each
Total Price	\$2,040.00
Product Code	501
Supplier Product Code	

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,000.00 10 / Each \$30,000.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,370.00 1 / Each \$1,370.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,000.00 1 / Each \$4,000.00 504
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$14,000.00 7 / Each \$98,000.00 507
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,750.00 7 / Each \$19,250.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,000.00 8 / Each \$32,000.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$7,250.00 6 / Each \$43,500.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code	\$15,000.00 1 / Each \$15,000.00 511

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$26,000.00 1 / Each \$26,000.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,700.00 1 / Each \$5,700.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$10,200.00 1 / Each \$10,200.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$15,000.00 1 / Lump-Sum \$15,000.00 513
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$140.00 96 / Linear Foot/Feet \$13,440.00 515
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$140.00 1609 / Linear Foot/Feet \$225,260.00 515
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$280.00 2155 / Linear Foot/Feet \$603,400.00 515
Unit Price Quantity/Unit Total Price Product Code	\$160.00 64 / Linear Foot/Feet \$10,240.00 518

06/11/2025 10:13 AM CDT

Supplier Product Code

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$190.00 63 / Linear Foot/Feet \$11,970.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$210.00 46 / Linear Foot/Feet \$9,660.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$14,000.00 1 / Each \$14,000.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$16,000.00 1 / Each \$16,000.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,500.00 1 / Each \$1,500.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,700.00 2 / Each \$3,400.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,800.00 1 / Each \$2,800.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code	\$3,000.00 1 / Each \$3,000.00 520

Supplier Notes Unit Price \$15,000.00 Quantity/Unit 1 / Lump-Sum **Total Price** \$15,000.00 **Product Code** 801 Supplier Product Code **Supplier Notes Unit Price** \$45,000.00 Quantity/Unit 1 / Lump-Sum **Total Price** \$45,000.00 **Product Code** 802 **Supplier Product Code Supplier Notes Unit Price** \$100,000.00 Quantity/Unit 1 / Lump-Sum **Total Price** \$100,000.00 **Product Code** 809 **Supplier Product Code Supplier Notes Unit Price** \$30,000.00 Quantity/Unit 1 / Lump-Sum **Total Price** \$30,000.00 **Product Code** 810 Supplier Product Code **Supplier Notes Unit Price** \$45.00 Quantity/Unit 496 / Linear Foot/Feet **Total Price** \$22,320.00 **Product Code** 812 Supplier Product Code **Supplier Notes Unit Price** \$180.00 Quantity/Unit 452 / Square Yard **Total Price** \$81,360.00 **Product Code** 813 Supplier Product Code **Supplier Notes Unit Price** \$200.00 Quantity/Unit 294 / Square Yard **Total Price** \$58,800.00 **Product Code** 814 **Supplier Product Code Supplier Notes**

Unit Price\$105.00Quantity/Unit73 / Square YardTotal Price\$7,665.00Product Code816Supplier Product Code

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$10.00 1400 / Square Yard \$14,000.00 840
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,000.00 1 / Lump-Sum \$4,000.00 801
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,000.00 1 / Cubic Yard \$3,000.00 Spec No
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,200.00 2 / Each \$4,400.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,300.00 1 / Each \$4,300.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,000.00 7 / Each \$35,000.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$6,000.00 1 / Each \$6,000.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code	\$7,080.00 10 / Each \$70,800.00 503

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1.00 1 / Each \$1.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1.00 1 / Each \$1.00 503
Supplier Supplier Number Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	Luckinbill Construction Company 2394814 \$5,000.00 1 / Lump-Sum \$5,000.00 109
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$6,000.00 1 / Lump-Sum \$6,000.00 109
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$24.00 3742 / Linear Foot/Feet \$89,808.00 212
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$100.00 233 / Cubic Yard \$23,300.00 225
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$230.00 118 / Linear Foot/Feet \$27,140.00 252
Unit Price Quantity/Unit Total Price	\$250.00 51 / Linear Foot/Feet \$12,750.00

Product Code Supplier Product Code Supplier Notes	252
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,200.00 3 / Each \$3,600.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,500.00 1 / Each \$1,500.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,000.00 3 / Each \$3,000.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,000.00 7 / Each \$7,000.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,000.00 1 / Each \$1,000.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,000.00 3 / Each \$6,000.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,500.00 1 / Each \$2,500.00 501
Unit Price Quantity/Unit Total Price	\$2,000.00 1 / Each \$2,000.00

Product Code Supplier Product Code Supplier Notes	501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,000.00 10 / Each \$20,000.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,200.00 1 / Each \$1,200.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,000.00 1 / Each \$2,000.00 504
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$10,000.00 7 / Each \$70,000.00 507
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,500.00 7 / Each \$24,500.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,500.00 8 / Each \$36,000.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$7,500.00 6 / Each \$45,000.00 511
Unit Price Quantity/Unit Total Price	\$12,000.00 1 / Each \$12,000.00

Product Code Supplier Product Code Supplier Notes	511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$20,000.00 1 / Each \$20,000.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,000.00 1 / Each \$4,000.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$7,000.00 1 / Each \$7,000.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$10,000.00 1 / Lump-Sum \$10,000.00 513
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$90.00 96 / Linear Foot/Feet \$8,640.00 515
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$100.00 1609 / Linear Foot/Feet \$160,900.00 515
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$133.00 2155 / Linear Foot/Feet \$286,615.00 515
Unit Price Quantity/Unit Total Price	\$190.00 64 / Linear Foot/Feet \$12,160.00

Product Code Supplier Product Code Supplier Notes	518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$245.00 63 / Linear Foot/Feet \$15,435.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$465.00 46 / Linear Foot/Feet \$21,390.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,000.00 1 / Each \$5,000.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$7,000.00 1 / Each \$7,000.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$800.00 1 / Each \$800.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,000.00 2 / Each \$2,000.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,500.00 1 / Each \$1,500.00 520
Unit Price Quantity/Unit Total Price	\$2,000.00 1 / Each \$2,000.00

Product Code Supplier Product Code Supplier Notes	520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$8,250.00 1 / Lump-Sum \$8,250.00 801
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$12,000.00 1 / Lump-Sum \$12,000.00 802
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$70,000.00 1 / Lump-Sum \$70,000.00 809
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$10,000.00 1 / Lump-Sum \$10,000.00 810
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$75.00 496 / Linear Foot/Feet \$37,200.00 812
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$185.00 452 / Square Yard \$83,620.00 813
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$230.00 294 / Square Yard \$67,620.00 814
Unit Price Quantity/Unit Total Price	\$130.00 73 / Square Yard \$9,490.00

Product Code Supplier Product Code Supplier Notes	816
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$10.00 1400 / Square Yard \$14,000.00 840
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$12,000.00 1 / Lump-Sum \$12,000.00 801
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$650.00 1 / Cubic Yard \$650.00 Spec No
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,700.00 2 / Each \$3,400.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,500.00 1 / Each \$3,500.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,000.00 7 / Each \$21,000.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,000.00 1 / Each \$5,000.00 503
Unit Price Quantity/Unit Total Price	\$6,000.00 10 / Each \$60,000.00

Product Code Supplier Product Code Supplier Notes	503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$850.00 1 / Each \$850.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,000.00 1 / Each \$3,000.00 503
Supplier Supplier Number Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	Brewer Construction Oklahoma LLC 2794212 \$5,367.00 1 / Lump-Sum \$5,367.00 109
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$20,438.00 1 / Lump-Sum \$20,438.00 109
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$50.00 3742 / Linear Foot/Feet \$187,100.00 212
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$71.00 233 / Cubic Yard \$16,543.00 225
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$152.00 118 / Linear Foot/Feet \$17,936.00 252

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$317.00 51 / Linear Foot/Feet \$16,167.00 252
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,186.00 3 / Each \$3,558.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,912.00 1 / Each \$1,912.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,627.00 3 / Each \$4,881.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,265.00 7 / Each \$8,855.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$929.00 1 / Each \$929.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,404.00 3 / Each \$7,212.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,608.00 1 / Each \$4,608.00 501

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,494.00 1 / Each \$3,494.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,119.00 10 / Each \$21,190.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,146.00 1 / Each \$2,146.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,741.00 1 / Each \$3,741.00 504
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$7,287.00 7 / Each \$51,009.00 507
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,777.00 7 / Each \$12,439.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,347.00 8 / Each \$34,776.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$9,566.00 6 / Each \$57,396.00 511

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$10,756.00 1 / Each \$10,756.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$19,206.00 1 / Each \$19,206.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,858.00 1 / Each \$3,858.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$6,539.00 1 / Each \$6,539.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$8,586.00 1 / Lump-Sum \$8,586.00 513
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$24.00 96 / Linear Foot/Feet \$2,304.00 515
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$34.00 1609 / Linear Foot/Feet \$54,706.00 515
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$66.00 2155 / Linear Foot/Feet \$142,230.00 515

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$86.00 64 / Linear Foot/Feet \$5,504.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$98.00 63 / Linear Foot/Feet \$6,174.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$138.00 46 / Linear Foot/Feet \$6,348.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,641.00 1 / Each \$3,641.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,653.00 1 / Each \$4,653.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$608.00 1 / Each \$608.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$794.00 2 / Each \$1,588.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,426.00 1 / Each \$5,426.00 520

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,676.00 1 / Each \$5,676.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$14,861.00 1 / Lump-Sum \$14,861.00 801
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$10,945.00 1 / Lump-Sum \$10,945.00 802
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$57,248.00 1 / Lump-Sum \$57,248.00 809
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$12,363.00 1 / Lump-Sum \$12,363.00 810
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$66.00 496 / Linear Foot/Feet \$32,736.00 812
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$165.00 452 / Square Yard \$74,580.00 813
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$248.00 294 / Square Yard \$72,912.00 814

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$138.00 73 / Square Yard \$10,074.00 816
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$6.00 1400 / Square Yard \$8,400.00 840
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,179.00 1 / Lump-Sum \$5,179.00 801
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,729.00 1 / Cubic Yard \$1,729.00 Spec No
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,497.00 2 / Each \$2,994.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,538.00 1 / Each \$2,538.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,137.00 7 / Each \$21,959.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,953.00 1 / Each \$4,953.00 503

OCWUT WC-1100 - Waterline Replacement

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$6,002.00 10 / Each \$60,020.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$0.00 1 / Each \$0.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$0.00 1 / Each \$0.00 503
Supplier Supplier Number Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	Southwest Water Works 1220507 \$15,000.00 1 / Lump-Sum \$15,000.00 109
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,000.00 1 / Lump-Sum \$5,000.00 109
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$35.00 3742 / Linear Foot/Feet \$130,970.00 212
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$55.00 233 / Cubic Yard \$12,815.00 225
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code	\$35.00 118 / Linear Foot/Feet \$4,130.00 252

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$250.00 51 / Linear Foot/Feet \$12,750.00 252
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,500.00 3 / Each \$4,500.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,750.00 1 / Each \$1,750.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,000.00 3 / Each \$3,000.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,000.00 7 / Each \$7,000.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$850.00 1 / Each \$850.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,750.00 3 / Each \$8,250.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code	\$3,000.00 1 / Each \$3,000.00 501

Unit Price \$1,750.00 Quantity/Unit 1 / Each **Total Price** \$1,750.00 **Product Code** 501 Supplier Product Code **Supplier Notes Unit Price** \$1,750.00 Quantity/Unit 10 / Each **Total Price** \$17,500.00 **Product Code** 501 **Supplier Product Code Supplier Notes Unit Price** \$850.00 Quantity/Unit 1 / Each **Total Price** \$850.00 **Product Code** 501 Supplier Product Code **Supplier Notes Unit Price** \$2,500.00 Quantity/Unit 1 / Each **Total Price** \$2,500.00 **Product Code** 504 Supplier Product Code **Supplier Notes Unit Price** \$8,000.00 Quantity/Unit 7 / Each **Total Price** \$56,000.00 **Product Code** 507 Supplier Product Code **Supplier Notes Unit Price** \$3,500.00 Quantity/Unit 7 / Each **Total Price** \$24,500.00 **Product Code** 511 Supplier Product Code **Supplier Notes Unit Price** \$4,500.00 Quantity/Unit 8 / Each **Total Price** \$36,000.00 **Product Code** 511 **Supplier Product Code Supplier Notes Unit Price** \$7,500.00 Quantity/Unit 6 / Each

Total Price

Product Code

Supplier Product Code

\$45,000.00

511

Supplier Notes Unit Price \$16,000.00 Quantity/Unit 1 / Each **Total Price** \$16,000.00 **Product Code** 511 Supplier Product Code **Supplier Notes Unit Price** \$25,000.00 Quantity/Unit 1 / Each **Total Price** \$25,000.00 **Product Code** 511 **Supplier Product Code Supplier Notes Unit Price** \$4,500.00 Quantity/Unit 1 / Each **Total Price** \$4,500.00 **Product Code** 511 Supplier Product Code **Supplier Notes Unit Price** \$7,500.00 Quantity/Unit 1 / Each **Total Price** \$7,500.00 **Product Code** 511 Supplier Product Code **Supplier Notes Unit Price** \$15,000.00 Quantity/Unit 1 / Lump-Sum **Total Price** \$15,000.00 **Product Code** 513 Supplier Product Code **Supplier Notes Unit Price** \$125.00 96 / Linear Foot/Feet Quantity/Unit **Total Price** \$12,000.00 **Product Code** 515 Supplier Product Code **Supplier Notes Unit Price** \$165.00 Quantity/Unit 1609 / Linear Foot/Feet **Total Price** \$265,485.00 **Product Code** 515 **Supplier Product Code Supplier Notes Unit Price** \$215.00 Quantity/Unit 2155 / Linear Foot/Feet **Total Price** \$463,325.00

Product Code

Supplier Product Code

515

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$125.00 64 / Linear Foot/Feet \$8,000.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$175.00 63 / Linear Foot/Feet \$11,025.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$225.00 46 / Linear Foot/Feet \$10,350.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,500.00 1 / Each \$2,500.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,000.00 1 / Each \$3,000.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,000.00 1 / Each \$1,000.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,500.00 2 / Each \$3,000.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code	\$7,500.00 1 / Each \$7,500.00 520

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$10,000.00 1 / Each \$10,000.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$15,000.00 1 / Lump-Sum \$15,000.00 801
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$35,000.00 1 / Lump-Sum \$35,000.00 802
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$15,000.00 1 / Lump-Sum \$15,000.00 809
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,500.00 1 / Lump-Sum \$3,500.00 810
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$100.00 496 / Linear Foot/Feet \$49,600.00 812
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$215.00 452 / Square Yard \$97,180.00 813
Unit Price Quantity/Unit Total Price Product Code	\$275.00 294 / Square Yard \$80,850.00 814

Supplier Product Code

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$185.00 73 / Square Yard \$13,505.00 816
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$7.00 1400 / Square Yard \$9,800.00 840
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$10,000.00 1 / Lump-Sum \$10,000.00 801
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,500.00 1 / Cubic Yard \$2,500.00 Spec No
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,500.00 2 / Each \$3,000.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,500.00 1 / Each \$3,500.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,750.00 7 / Each \$26,250.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code	\$4,000.00 1 / Each \$4,000.00 503

Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,500.00 10 / Each \$45,000.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,000.00 1 / Each \$1,000.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,500.00 1 / Each \$2,500.00 503
Supplier Supplier Number Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	MATTHEWS TRENCHING 2830282 \$3,500.00 1 / Lump-Sum \$3,500.00 109
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,000.00 1 / Lump-Sum \$5,000.00 109
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$20.00 3742 / Linear Foot/Feet \$74,840.00 212
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$90.00 233 / Cubic Yard \$20,970.00 225
Unit Price Quantity/Unit Total Price	\$410.00 118 / Linear Foot/Feet \$48,380.00

Product Code Supplier Product Code Supplier Notes	252
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$235.00 51 / Linear Foot/Feet \$11,985.00 252
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,200.00 3 / Each \$3,600.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,400.00 1 / Each \$1,400.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$900.00 3 / Each \$2,700.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$850.00 7 / Each \$5,950.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$800.00 1 / Each \$800.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,100.00 3 / Each \$6,300.00 501
Unit Price Quantity/Unit Total Price	\$2,500.00 1 / Each \$2,500.00

Product Code Supplier Product Code Supplier Notes	501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,800.00 1 / Each \$1,800.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,625.00 10 / Each \$16,250.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,100.00 1 / Each \$1,100.00 501
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$5,000.00 1 / Each \$5,000.00 504
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$8,000.00 7 / Each \$56,000.00 507
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$2,300.00 7 / Each \$16,100.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,000.00 8 / Each \$32,000.00 511
Unit Price Quantity/Unit Total Price	\$7,500.00 6 / Each \$45,000.00

Product Code Supplier Product Code Supplier Notes	511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$18,500.00 1 / Each \$18,500.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$25,000.00 1 / Each \$25,000.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,000.00 1 / Each \$4,000.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$7,500.00 1 / Each \$7,500.00 511
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$20,000.00 1 / Lump-Sum \$20,000.00 513
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$300.00 96 / Linear Foot/Feet \$28,800.00 515
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$275.00 1609 / Linear Foot/Feet \$442,475.00 515
Unit Price Quantity/Unit Total Price	\$375.00 2155 / Linear Foot/Feet \$808,125.00

Product Code Supplier Product Code Supplier Notes	515
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$100.00 64 / Linear Foot/Feet \$6,400.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$125.00 63 / Linear Foot/Feet \$7,875.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$150.00 46 / Linear Foot/Feet \$6,900.00 518
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$7,500.00 1 / Each \$7,500.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$9,000.00 1 / Each \$9,000.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$625.00 1 / Each \$625.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$950.00 2 / Each \$1,900.00 520
Unit Price Quantity/Unit Total Price	\$5,000.00 1 / Each \$5,000.00

\$5,000.00

Product Code Supplier Product Code Supplier Notes	520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$7,500.00 1 / Each \$7,500.00 520
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$10,500.00 1 / Lump-Sum \$10,500.00 801
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$55,000.00 1 / Lump-Sum \$55,000.00 802
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$25,000.00 1 / Lump-Sum \$25,000.00 809
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$20,000.00 1 / Lump-Sum \$20,000.00 810
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$110.00 496 / Linear Foot/Feet \$54,560.00 812
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$200.00 452 / Square Yard \$90,400.00 813
Unit Price Quantity/Unit Total Price	\$355.00 294 / Square Yard \$104,370.00

Product Code Supplier Product Code Supplier Notes	814
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$155.00 73 / Square Yard \$11,315.00 816
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$10.00 1400 / Square Yard \$14,000.00 840
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$4,500.00 1 / Lump-Sum \$4,500.00 801
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$100.00 1 / Cubic Yard \$100.00 Spec No
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$1,500.00 2 / Each \$3,000.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,000.00 1 / Each \$3,000.00 503
Unit Price Quantity/Unit Total Price Product Code Supplier Product Code Supplier Notes	\$3,650.00 7 / Each \$25,550.00 503
Unit Price Quantity/Unit Total Price	\$6,000.00 1 / Each \$6,000.00

Product Code	503
Supplier Product Code	
Supplier Notes	
Unit Price	\$8,500.00
Quantity/Unit	10 / Each
Total Price	\$85,000.00
Product Code	503
Supplier Product Code	
Supplier Notes	
Unit Price	\$1,500.00
Quantity/Unit	1 / Each
Total Price	\$1,500.00
Product Code	503
Supplier Product Code	
Supplier Notes	
Unit Price	\$3,500.00
Quantity/Unit	1 / Each
Total Price	\$3,500.00
Product Code	503
Supplier Product Code	
Supplier Notes	
Supplier Totale	
Supplier Totals	Devenery Construction 110
Supplier	Downey Contracting, LLC
Supplier Number	1243224
Total Bid Price	\$1,385,208.00
Bid Contact	Sheila Stovall sstovall@downeycontracting.com 4054785277
Address	3217 NE 63rd ST
Address	Oklahoma City, Oklahoma, 73121
	United States
Supplier Notes	
Supplier	Cimarron Construction Co.
Supplier Number	1211752
Total Bid Price	\$1,888,888.00
Bid Contact	Chris McMurtrey
	cm@cimarroncco.com 405-728-1555 ext. 104
Address	3501 NE 63rd Street
	Oklahoma City, Oklahoma, 73121 United States
Supplier Notes	
0 "	
Supplier	4M Trenching, LLC
Supplier Number	2529512
Total Bid Price	\$2,343,847.00
Bid Contact	Adam Sharp
	adam@4mtrenching.com (405) 942-4175
	(405) 942-4175

4912 Bishop Dr

OCWUT WC-1100 - Waterline Replacement

Oklahoma City, Oklahoma, 73128 United States

Supplier Notes

Supplier Supplier Number Total Bid Price	Luckinbill Construction Company 2394814 \$1,387,318.00
Bid Contact	Robert Gibson robert.gibson@luckinbillconstruction.com (405) 359-6880
Address	409 Centennial Blvd Edmond, Oklahoma, 73013 United States
Supplier Notes	
Supplier Supplier Number Total Bid Price	Brewer Construction Oklahoma LLC 2794212 \$1,162,991.00
Bid Contact	Michael Rybicki michael@brewerok.com 405-787-4962
Address	8301 SW 8th Street Oklahoma City, Oklahoma, 73128 United States
Supplier Notes	
Supplier Supplier Number Total Bid Price	Southwest Water Works 1220507 \$1,675,485.00
Bid Contact	Paul Matthews paul@swwaterworks.com 4059902510
Address	201 NW 132nd St Oklahoma City, Oklahoma, 73114 United States
Supplier Notes	
Supplier	MATTHEWS TRENCHING

Supplier	MATTHEWSTRENCHING	
Supplier Number	2830282	
Total Bid Price	\$2,285,570.00	
Bid Contact	JARED HENDRIX jhendrix@mtciokc.com 405-677-4525	
Address	PO Box 15479 Oklahoma city, Oklahoma, 73155 United States	

Supplier Notes

The Bid Committee met in the Municipal Building - City Clerk's Conference Room 200 N. Walker Avenue, 2nd Floor, Oklahoma City, Oklahoma AT 10:00 A.M. OR LATER

THE BID COMMITTEE OPENS TIMELY SUBMITTED BIDS AND DOES NOT REJECT OR ACCEPT BIDS. The Bid Committee's preliminary observations are not conclusive of the validity, regularity, completeness or legality of any bid. **THE ORIGINATING DEPARTMENT SHALL CAREFULLY EXAMINE AND EVALUATE ALL OPENED BIDS.** Questions regarding bid defects or irregularities should be directed to the City Clerk's Office at (405) 297-2391.

City Clerk Designee	Purchasing Agent Designee	City Auditor Designee
Miranda Crawford	Hannah Adams	Tim Alvarez

Potential Bid Defects Noted:

- #1 Anti/Non-collusion Affidavit not attached to bid
- #2 Business Relationship Affidavit not attached to bid or not properly notarized
- #3 Bid Security or Bid Bond missing
- #4 Bid Security or Bid Bond listed incorrect awarding agency
- #5 Bid Security or Bid Bond listed insufficient amount
- #6 Bidder not prequalified
- #7 Other_____

Originating Department shall:

- 1. **Carefully examine and evaluate all opened bids,** including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to City Council/Trust with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's Bid Tabulation with the agenda item recommending contract award.